Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 14 - Glenrothes North Leslie & Markinch

6,564

4

1,313

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John BEARE	Scottish National Party (SNP)	1,123
Jamie DONALDSON	No Referendum Maintain Union Pro-Brexit	249
Fiona GRANT	Scottish National Party (SNP)	1,704
Michael GREEN	Scottish Conservative and Unionist	1,508
Kate LEGG	Scottish Liberal Democrats	204
Kyle MACKIE	Independent	81
Lorna ROSS	Scottish Green Party	232
JAN WINCOTT	Scottish Labour Party	949
JOHN WINCOTT	Scottish Labour Party	514
	Total	6,564

Candidate Fiona GRANT Elected with 1,704 votes, being in excess of the quota of 1,313 Candidate Michael GREEN Elected with 1,508 votes, being in excess of the quota of 1,313

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Fiona GRANT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BEARE	1,364	0.22946	312.98344
Transfer to Jamie DONALDSON	13	0.22946	2.98298
Transfer to Fiona GRANT	0	0.00000	0.00000
Transfer to Michael GREEN	0	0.00000	0.00000
Transfer to Kate LEGG	28	0.22946	6.42488
Transfer to Kyle MACKIE	23	0.22946	5.27758
Transfer to Lorna ROSS	89	0.22946	20.42194
Transfer to JAN WINCOTT	67	0.22946	15.37382
Transfer to JOHN WINCOTT	26	0.22946	5.96596
Value of non-transferable ballot papers			21.56940
	Total		391.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Michael GREEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BEARE	0	0.00000	0.00000
Transfer to Jamie DONALDSON	464	0.12931	59.99984
Transfer to Fiona GRANT	0	0.00000	0.00000
Transfer to Michael GREEN	0	0.00000	0.00000
Transfer to Kate LEGG	242	0.12931	31.29302
Transfer to Kyle MACKIE	68	0.12931	8.79308
Transfer to Lorna ROSS	48	0.12931	6.20688
Transfer to JAN WINCOTT	219	0.12931	28.31889
Transfer to JOHN WINCOTT	58	0.12931	7.49998
Value of non-transferable ballot papers			52.88831
	Total		195.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of John BEARE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BEARE	0	0.00000	0.00000
Transfer to Jamie DONALDSON	31	0.01965	0.60915
Transfer to Jamie DONALDSON	27	0.08564	2.31228
Transfer to Fiona GRANT	0	0.00000	0.00000
Transfer to Michael GREEN	0	0.00000	0.00000
Transfer to Kate LEGG	54	0.08564	4.62456
Transfer to Kate LEGG	69	0.01965	1.35585
Transfer to Kyle MACKIE	56	0.01965	1.10040
Transfer to Kyle MACKIE	65	0.08564	5.56660
Transfer to Lorna ROSS	422	0.08564	36.14008
Transfer to Lorna ROSS	468	0.01965	9.19620
Transfer to JAN WINCOTT	107	0.01965	2.10255
Transfer to JAN WINCOTT	113	0.08564	9.67732
Transfer to JOHN WINCOTT	24	0.08564	2.05536
Transfer to JOHN WINCOTT	52	0.01965	1.02180
Value of non-transferable ballot papers			47.22129
	Total		122.98344

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Kyle MACKIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BEARE	0	0.00000	0.00000
Transfer to Jamie DONALDSON	17	1.00000	17.00000
Transfer to Jamie DONALDSON	3	0.01965	0.05895
Transfer to Jamie DONALDSON	1	0.08564	0.08564
Transfer to Jamie DONALDSON	14	0.12931	1.81034
Transfer to Jamie DONALDSON	2	0.22946	0.45892
Transfer to Fiona GRANT	0	0.00000	0.00000
Transfer to Michael GREEN	0	0.00000	0.00000
Transfer to Kate LEGG	15	1.00000	15.00000
Transfer to Kate LEGG	1	0.22946	0.22946
Transfer to Kate LEGG	12	0.12931	1.55172
Transfer to Kate LEGG	8	0.08564	0.68512
Transfer to Kate LEGG	2	0.01965	0.03930
Transfer to Lorna ROSS	21	1.00000	21.00000
Transfer to Lorna ROSS	20	0.01965	0.39300
Transfer to Lorna ROSS	28	0.08564	2.39792
Transfer to Lorna ROSS	8	0.12931	1.03448
Transfer to Lorna ROSS	4	0.22946	0.91784
Transfer to JAN WINCOTT	2	0.22946	0.45892
Transfer to JAN WINCOTT	7	0.12931	0.90517
Transfer to JAN WINCOTT	2	0.08564	0.17128
Transfer to JAN WINCOTT	3	0.01965	0.05895
Transfer to JAN WINCOTT	13	1.00000	13.00000
Transfer to JOHN WINCOTT	1	1.00000	1.00000
Transfer to JOHN WINCOTT	2	0.08564	0.17128
Transfer to JOHN WINCOTT	3	0.22946	0.68838
Value of non-transferable ballot papers			22.62099

Total 101.73766

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Kate LEGG

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BEARE	0	0.00000	0.00000
Transfer to Jamie DONALDSON	19	1.00000	19.00000
Transfer to Jamie DONALDSON	6	0.01965	0.11790
Transfer to Jamie DONALDSON	5	0.08564	0.42820
Transfer to Jamie DONALDSON	48	0.12931	6.20688
Transfer to Jamie DONALDSON	2	0.22946	0.45892
Transfer to Fiona GRANT	0	0.00000	0.00000
Transfer to Michael GREEN	0	0.00000	0.00000
Transfer to Kyle MACKIE	0	0.00000	0.00000
Transfer to Lorna ROSS	53	1.00000	53.00000
Transfer to Lorna ROSS	8	0.22946	1.83568
Transfer to Lorna ROSS	26	0.12931	3.36206
Transfer to Lorna ROSS	19	0.08564	1.62716
Transfer to Lorna ROSS	27	0.01965	0.53055
Transfer to JAN WINCOTT	5	0.01965	0.09825
Transfer to JAN WINCOTT	6	0.08564	0.51384
Transfer to JAN WINCOTT	50	0.12931	6.46550
Transfer to JAN WINCOTT	4	0.22946	0.91784
Transfer to JAN WINCOTT	66	1.00000	66.00000
Transfer to JOHN WINCOTT	16	1.00000	16.00000
Transfer to JOHN WINCOTT	3	0.22946	0.68838
Transfer to JOHN WINCOTT	19	0.12931	2.45689
Transfer to JOHN WINCOTT	2	0.08564	0.17128
Transfer to JOHN WINCOTT	4	0.01965	0.07860
Value of non-transferable ballot papers			85.24598

Total 265.20391

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Jamie DONALDSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BEARE	0	0.00000	0.00000
Transfer to Fiona GRANT	0	0.00000	0.00000
Transfer to Michael GREEN	0	0.00000	0.00000
Transfer to Kate LEGG	0	0.00000	0.00000
Transfer to Kyle MACKIE	0	0.00000	0.00000
Transfer to Lorna ROSS	42	1.00000	42.00000
Transfer to Lorna ROSS	18	0.01965	0.35370
Transfer to Lorna ROSS	13	0.08564	1.11332
Transfer to Lorna ROSS	54	0.12931	6.98274
Transfer to Lorna ROSS	4	0.22946	0.91784
Transfer to JAN WINCOTT	1	0.22946	0.22946
Transfer to JAN WINCOTT	99	0.12931	12.80169
Transfer to JAN WINCOTT	1	0.08564	0.08564
Transfer to JAN WINCOTT	3	0.01965	0.05895
Transfer to JAN WINCOTT	61	1.00000	61.00000
Transfer to JOHN WINCOTT	26	1.00000	26.00000
Transfer to JOHN WINCOTT	2	0.01965	0.03930
Transfer to JOHN WINCOTT	1	0.08564	0.08564
Transfer to JOHN WINCOTT	36	0.12931	4.65516
Transfer to JOHN WINCOTT	2	0.22946	0.45892
Value of non-transferable ballot papers			203.74764
	Total		360.53000

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Lorna ROSS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John BEARE	0	0.00000	0.00000
Transfer to Jamie DONALDSON	0	0.00000	0.00000
Transfer to Fiona GRANT	0	0.00000	0.00000
Transfer to Michael GREEN	0	0.00000	0.00000
Transfer to Kate LEGG	0	0.00000	0.00000
Transfer to Kyle MACKIE	0	0.00000	0.00000
Transfer to JAN WINCOTT	124	1.00000	124.00000
Transfer to JAN WINCOTT	182	0.01965	3.57630
Transfer to JAN WINCOTT	151	0.08564	12.93164
Transfer to JAN WINCOTT	36	0.12931	4.65516
Transfer to JAN WINCOTT	36	0.22946	8.26056
Transfer to JOHN WINCOTT	7	0.22946	1.60622
Transfer to JOHN WINCOTT	7	0.12931	0.90517
Transfer to JOHN WINCOTT	21	0.08564	1.79844
Transfer to JOHN WINCOTT	24	0.01965	0.47160
Transfer to JOHN WINCOTT	25	1.00000	25.00000
Value of non-transferable ballot papers			258.22630
	Total		441.43139